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dm* —6m+5—6m" —3m+1=
2m* —-9m+6=

(12

: - 1 LAl o ' 5 B " .
i J“:*- ﬂ . 1 i ) (- -] .‘_rin;.ir |-.I | il .lh 1._‘.{ il '_.. El ; -
- - . |

= . . . | % # 2 5 -~ .
Sy 0,05 (gl BXY 4 1977 4 2y ~ 3 yaelal N2

SGAsle s blg.;JLL.;....-!
'y S =

(6x3+l9x1+2x)+(x+3)=E$mhm
-316 19 2
& —~18 =3
6 1 -1

6x’ +x—1 = 3:2dl) dalica
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2,_5)4,,3_3,,1 —13r+20
(-) 4r° —10r°
+2r°—=13r+20
(-) 2r* —5r
—8r+20
(-)-8r+20

3x°—-16x"+9x-24
xX—5
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3x —=x44
.’;—5)3.):3 —16x* +9x-24

(-) 3x* -15x"
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3f(a — 4) — 2h(a) Ol

f(x)=x*+3x

h(x)=2x’3x+5
3f(a—4)=3|(a—4) +3(a-4)
3f(a—4)=3]a’ —8a+16+3a—12i
3f(ﬂ—4) =3a’ -15a+12
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Zh(a) =4a’ - 6a+10
3f(ﬂ—-4)-2h(ﬂ)=3ﬂz '—15a+12—~(4a1 ——6a+10)
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Solving Polynomial Equations B

5y*-320yz° (14
Sy(y _4 3)
Sy(y-—4z) (y +4yz+16z2)

—54w* -250wz> (1B
-2w(27w* +1257%)

2w (3w +52) (9w’ — 15wz + 257%)

30ax —24bx + 6¢cx —Say® +4by* —cy® (2A4
6x(5a—4b+c)- y*(Sa+4b-c)
(Sa—4b+c)(6x—yz)

13ax +18bz —15by —14az (2B
Z,L\Ji R BEN EJ;-;S

a®+b° (34

@) ) -

(a® +b1)(a" ~a’b’* +b') =



x*+4x* +4x’ +x*y’ +4xy* +4y° (3B
.rs(x2+4x+4)+y3(xz+4x+4)
(x3+y3)(x1+4x+4)

(x+y)(x: —xy+y3)(x: +4x+4)
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(3x)" - x* =3250

27x° —x° =3250

¥ =118
Ix=15cm x=5cm

x'+5x+6 (54
A ) B gal) Jo Lgilis (Say Y

8x‘+12x*+18 (5B
2(2x7) +6(2x%)+18

4x*-8x*+3=0 (64
(2x?) -4(2x*)+3=0

2x”* =u o) L ks
(H)Z —4(u)+ 3=10
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i[;— x=i[§-
2 3

8x*+10x*-12=0 (6B
2(2x) +5(2x*)-12=0
2x* =u o sl
2(u)’ +5(u)-12=0

o R \/i':'2 —4ac
alad) o gi8l) 2a
-5+ ,[25-4(2)(-12)

2(2)




dax+2ay —az+3bx (1
Aglg) 3gaa B s

16g° +20° (2
2(2°¢+ 1)
2(2g+h)(4g2 ~2gh+hz)
12gw’ -12¢* (3
12q(w"’ —q3)=
12q(w - q')(w2 +wq + q‘z) =

ax'-b0’x" (4
o (a*-5%) = 2| (@) - (87)’|
x?'(a —bﬁ) ( —bz)(a4+a b2+b4)
xz(aﬁ—b6)=x2(a—b)(a+b)(a4+a2bz+b4)
Xy’ -8x’y+16x*+ y°-8y* +16y° (5
xJ(yz—S_v+16)+y3(yz—8y+16)=
(x3+y3)(y3—-8y+16)=
(.1r:+y)(xz—.v.ay-t—yz)(y—4)2 -

8c’ —125d° (6
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(40+2x)(30+2x)=2000

1200+ 60x + 80x + 4x* = 2000
4x* +140x+ 1200 = 2000

4x* +140x-800=0
x'+35x-200=0
(x+40)(x-5)=0

(x+40)=0 (x-5)=0
x =—40 X=35
calleadls A8lica 32 g5 Y
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8c°-27d° (12
23 —-334° =
(2¢-3d)(4c* +6cd +9d°) =

64x*+xy° (13
x(43x3+y3)=
x(4x+p)(16x* 4y + y*) =
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Xy +y (15
ys(xﬁ+yﬁ)—
o((2) ()
Yy (.r + ) )(x -—xzy1+y )
gx’ =3hx* -6 " — gy’ +6 fx* +3hy* (16
(x* =) (6 +g-3h)=
(x+y)(x—p)(6f+g-3hn)=

18x°+5y° (17
Asl g) 3 g3 B s

8x° —25y° +80x* —x*y’ +200x> —10xy° (18
(8.!:3 —~ y‘a)(x2 +10x + 25)
(2-’f— .V)(le +2xy+ yz)(.vcI +10x+ 25) =
(2x-y)(2x* + 209+ y*)(x+5) =

12ax* —20cy” —18bx* —10ay” +15by* +24cx* (19
6x*(2a—3b+4c)-5y*(2a-3b+4c)=
(6x* —5y*)(2a-3b+4c) =

b ea Uslaa S |
x*+x2=90=0 (20

(xl + ll.'})(_:n;:1 _9) =0
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x'—16x*-720=0 (21

(x*-36)(x*+20)=0

(x*-36)=0 (x*+20)=0
x’ =36 x’=-=20
x=i\/£ x=:l:m
X =46 x =125
4_m2_ 44

(x1f11)7(i2+1;=3 -
(xz—ll =0 (x3+4)=l]
x’=11 x2=—-4
v =111 x=1+/-4
Xx=3x

x'+6x*-91=0 (23

x’+216=0 (24
(x+6)(x*+6x+36)=0

(x+6=0) (x*+6x+36)=0
~6 /36— (4x1x 36)
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64x>+1=0 (25
£x’+1=0
(4x+1)(16x* —4x+1)=0
(16x* —4x+1)=0

t:—bi\/bz—-flm:
alad) feidl) 2a
4+./16-
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x*+12x*-8 (26

(x?) +12(x?)-8
=15x*+18x* =4 (27

—15(.1::3)I - 18(_1:3) —4

8x°+6x°+7 (28
2(2x*) +3(2x°)+12



5x°-2x*+8 (29
(San

9x° -21x*+12 (30
(3x*) -7(3x*)+12

16x" +2x° (31

x*+6x*+5=0 (32

(f)2+6(.€-)+5=0
¥ =u J sk

w+6u+5=0
(u—l)(u+5)=0
u=-1

u=-3

x*=-5 xt=-1

x=ii\/§ x=4f
x'=3x*-10=0 (33

X’ =u o) i

u2=x4

u —-3u—10=0

(u—5)(u+2)=0

(u—5)=0 (u+2)=0

(f-s):o (x2+2)=0

x'=5 x*==2

x =++5 x=if\/5

4x*—14x*+12=0 (34
(2x*) -7(2%) +12=0

2x° =u o) yai



w—-Tu+12=0

(u—4)(u-3)=0

(u—4)=0 (u—3)=0

u=4 u=3

x*=4 x*=3

x=1%12 x=+/3
Ox*-27x*+20=0 (35

X' =u o paks

a=x'

Ou’ —27u+20=0
9%’ —15u—12u+20=0
3u(3u—5)—4(3u-5)=0

(3u-5)(3u-4)=0

(3u-4)=0 (3u-5)=0
Ju=4 Ju=>5
- o
H—3 H_3
x3=i x1=§
3 3
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xX=x 3
_. 243 .
ey s

4x*-5x*-6=0 (36

x* =u o ya i
u1=x4

4u* —5u—-6=0

du' -2u-3u—6=0
(u—2)(4u+3)=0



_ 3

u=?2 4
r_ 3

x'=2 T ET
/3

xa Bl )

24x* +14x*=3=0 (37
2x° =u o saii
u2=x4
241 +14u—-3=0
240’ +18u—4u—-3=0
6u(4u+3)—(4u+3)=0
(4u+3)(6u—1)=0

(6u—1)=0 (4u+3)=0

u=% u=—%

x1=%— xz=“‘%’
x*-625 (38

(.Jnf2 + 25)(%2 - 25) =

(x*+25)(x-5)(x+5)=
x*-64 (39

x*—64= (.n:z)ai ~(4)°

(¢ -4)| () +4(x*)+ (4 |=



(x+2)(x- 2)(.1.;:4 +4x° + 16) -
(-’H‘ 2)(x— 2)(.:1{2 +2x+ 4)(.)(1 —-2x+ 4) =

x°—16x (40
x(x‘—16)=

x(.ﬂvc2 + 4)(x+ 2)(x— 2)

8x°y* -27x*y° (41
x2y1(8x3 —27y3) =
xEyZ(zs 3 —33y3) -

x'y*(2x- 3-1’)(4371 + 6.y + 9_1«*1) =

15ax—10bx +5cx+ 12ay — 8by + 4cy + 15az — 10bz + 5¢z (42
(15ax —10bx + 5cx) + (12ay — 8by + 4cy ) + (15az — 10bz + 5cz) =
Sx(3a-2b+c)+4y(3a—2b+c)+5z(3a-2b+c)=

(Sx+4y+5z)(3a—2b+c)=
4b°x* +18c’x* —5a*y® +20b0°y* —15¢%y® + 2a°z* —8b°7* + 6¢°2° (43
(6x* =5y +22%)(a* - 4b* +3¢*) =

6x° —11x*—10x" —54x° +99x° +90x (44
(6x" —11x* = 10x*) - (54x° = 99.x* — 90x) =

x3(6x2 —f 3= 10)—%:(‘5;.:‘:2 s 10)
x(x2 _ !;)(cmc2 iR 10) =



x(x+3)(x-3)(6x* —11x~-10)
x(x+3)(x=3)(6x* —15x+4x~10)
x(x+3)(x—3)[ (6x7 +4x) - (15x+ 10);
x(x - 3)(x — 3) [2x(3x + 2) — 5(3x + 2)_

x(x+3)(x-3)[(2x-5)(3x+2)

.x(x+ 3)(x— 3)(2,1:— 5)(3x+ 2) =

20x° —7x° —6x* —500x* +175x° +150x* (45
20x° —=7x" —=506x* +175x° +150x* =

x> (20x* —7x* = 506X +175x + 150)

x’ (20.}:" —100x° +93x° —465x* —41x" +205x—-30x + 150)

2 (20x* = 100x*) + (93" — 465x) - (41x* — 205x) - (30x - 150) |
x*[ 20x° (x=5) +93x* (x—5)—41x(x - 5) - 30(x-5) | =

¥ [ (x-5)(20x° +93x* - 41x - 30) |

x* (x=5)(20x° +100x" — 7x* - 35x— 6x— 30

Nm—"
|

x* (2= 5)[ (20" +100x7) — (77 + 35x) - (6x + 30) | =
x*(x - 5)|:20.a;:1 (x+5)-7x(x+5)-6(x+ 5)] =
x*(x=5)(x+ S)(Z(]Juf2 -7 x - 6) =

x*(x=5)(x+5)(4x-3)(5x+2)=
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(x—3)x(x+3)=440=8x5x11
¥=8 , x—3=8 , x+3=11

8=x

it Laa ddalaa JS (Ja

8x*+10x*—3=0 (47
2(2,&)3 +5(2x%)-3=0
2x" =u o Lk

2u° +5u—-3=0
(u+3)(2u-1)=0

(u+3)=0 (2u-1)=0
1

u=-3 ~—3
x2=—% x:=‘_}
x=ii§ x=j:%

6x*—5x*-4=0 (48
x' =u o yai
6u’ —8u+3u—4=0
(60 —8u)+(3u-4)=0



x=%i

2u(3u—4)+(3u—4)=0
(2u+1)(3u-4)=0

(2u+1)=0 (3u—4)=0
u=-2 u=3
a1 g

T2 3
V2 1L
2 - 3

20x*-53x*+18=0 (49
20(x*) -53(x*)+18=0
x* =u o)l ks

200" —53u+18=0
(4u-9)(5u—-2)=0

(4u-9)=0 (5u-2)=0
u=3 u=%
2. 22
X =4 X =3

x=:l:% x=:]:—\/-§g

18x* +43x*-5=0 (50

x*=u o yais
184> +43u—-5=0
184" +45u—2u—-5=0



9u(2u+5)—(2u+5)=0
(9u— 1)(2u+ 5) =0

(9u-1)=0 (2u+5)=0
x=:|:% x=ii@
8x*—18x*+4=0

X" =u o yahs

8u’' —18u+4=0

8u’ —16u—-2u+4=0

(8u” —16u) - (2u—4)=0
8u(u—2)-2(u-2)=0
(8u—2)(u—-2)=0

(u-2)=0 (8u—-2)=0
_2

=2 “=3

2 2

x’=2 =8
x—il

x=+2 Ty

3x'-22x*-45=0

x* =u o pai
3u —22u—-45=0
3u' —27u+5u—-45=0

(31

(52



(3u* —27u)+(5u-45)=0
3u(u-9)+5(u-9)=0
(3u+5)(u-9)=0

(u-9)=0 (3u+5)=0
_ 8

u=9 —

2 _3S

x*=9 =3
o185

- e B

x®-26x*-27=0 (53
x> =u o aks
w —26u—-27=0
(u—27)(u+ l)=0

(u—27)=0 (u+1)=0
=127 u=-1

x’ =27 x> =-1
_x=3 x=—l

d4x*-4x*-x*+1=0 (54

(4.»:4 —4.»:"'*)—(.7«:2 - l) =1
4x*(x*=1)—(x*-1)=0

(4x —1)()::2 — l)= 0

(4x"--1)=;1 (x*-1)=0



x*—9x*—x*+9=0 (55
(xﬁ—9x4)—(xz—9)=0
x“'(xz—9)—(x2—9) 0
(x*-1)(x*-9)=0

(«* +1)(x*=1)(x+3)(x-3)=0
(x*+1)(x+1)(x-1)(x+3)(x-3)=0
0

)
0 (x+3)=0 (x—1)=0 (x+1)=0 (x3+1)=

(x—3)=
x’=-1
x=3 x=-3 x=] x=-1 x=%
x'+8x*+15=0 (56
X' =u o Gads
u2=x4
w+8u+15=0
(u+5)(u+3)=0
(u+5)=0 (u+3)=0
u=-5 u=-3
- - -
x=ii\/§ x=ifﬁ
(57
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(x-— 2)(.x- 4)(x-6) =
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.w:(:vc2 —6x+ 8)+ (-—lf.i)(,vc1 —6x+ 8) =
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x°—6x"+8x—-6x"+36x—48=
X =12x*+44x - 48 =
(x=2)(x—4)(x-6)=40x (p
(x* - 6x+8)(x—6)=40x
x’—6x" +8x—6x"+36x—48=40x
x’=12x"+44x-48—-40x=0
x’=12x*+4x-48=0
xz(x—12)+4(x—12)=0
(x*+4)(x-12)=0
(x*+4)=0 (x-12)=0
x=12i x =12
Cllds lase Ly 20 (¢
(12-2) @12-4)@12-6) (d
(10) @8) @) .
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[(12-2x)x(12- x) |+[ (24— 2x)x (16-2x) |+[ x(12-2x) | =

144-12x—24x+2x2)+(384—48.x-32x+ 4x1)+(12x-2x’)= 336

4x*—-104x+192=0
x’—26x+48=0
(x-24)(x-2)=0

X =24 558 O OSas ¥ a4
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32+128+16=176 ft’
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1<— “«— X

[(12-2)x(12-1) |+ [ (24-2)x (16 - z)]+[(12 2)|=
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110+ 308+ 10 = 428 ft’
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—0.0127° — 0.24¢t* + 6.3t =0
127° +240¢° — 63007 = 0
£ +20t" —525¢=0
t(¢ +20r-525)=0
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